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Question 1

The leasing industry has grown partly due to the system of capital allowances – lessors can claim tax benefits and pass these on to lessees.  Gradually these capital allowances have been reduced, from 100% in some cases down to 25%.  Now the process is set to continue with tax reform to ensure that the entity taking the ultimate risk of ownership is entitled to the tax benefits.  This has resulted in the ‘funding lease’.

Which of the following is expected to be a defining characteristic of a funding lease?

(a) a finance lease with a life under 4 years

(b) an operating lease with a life of under 4 years

(c) a finance lease where the NPV of lease payments is greater than 75% of the asset’s market value

(d) a finance lease where the NPV of lease payments is less than 50% of the asset’s market value

(e) don’t know

Answer 1

The right answer is (c) a finance lease where the NPV of lease payments is greater than 75% of the asset’s market value

It is currently anticipated that legislation will exclude leases with lives less that 51 months, so that answer (a) and (b) are wrong.  Answer (b) is doubly wrong because an operating lease has no risk associated with ownership and therefore will be unaffected by this legislation.  Answer (d) would imply that the lessor is taking substantial risk of ownership and therefore would be eligible to claim the tax benefits. 

The Treasurer July/August 2005 “A New Lease of Life” Mike Chappell p30

Question 2

As treasurer of a medium-sized PLC you have just entered into a swap with a money-centre bank with whom you have no long-standing relationship.  There were brief negotiations associated with the swap terms and conditions but, essentially, the standard ISDA documentation is being used.  The deal was actually done over the telephone and the confirmation arrived this morning.

Your assistant gives you the confirmation and suggests that it may not be consistent with the terms agreed.  Which of the following courses of action would you take?

(a) Check all of the terms used with your set of ISDA definitions

(b) Sign it after reading it – deciding that the Master Agreement will take precedence despite the inconsistency

(c) Contact the bank to ensure consistency before signing

(d) Sign it while aware of a risk, but confident in the skill of your legal advisors

(e) Don’t know

Answer 2

The right answer is (c) Contact the bank to ensure consistency before signing

The Confirmation, if signed without challenge will take precedence over the Master Agreement.  It is therefore imperative that it is checked before signing.  Interestingly, answer (a) is not a possibility without the assistance of a lawyer as the definitions are the intellectual property of ISDA and only ISDA members are allowed to use/refer to them in a day-to-day context.  Few medium-sized PLCs are members of ISDA.

The Treasurer July/August 2005 “The Neglected Piece of the ISDA Puzzle – the Confirmation! Gary Walker and Guy Usher p44

Question 3

Over many years you have developed a cash pooling system with your main relationship bank.  Under this system all of your sterling account balances are aggregated and a single net figure is used as the basis for determining any interest payments.  Your group has, in total, 38 such accounts covering your several subsidiaries.  Your group is quoted on  the London Stock Exchange.

Which of the following determines your ability to present the net figure of your cash balance / overdraft on the face of the balance sheet?

(a) You have the legal right to offset surpluses and deficits, and the intention to realise all surpluses and simultaneously to settle all deficits.

(b) You have the legal right o offset surpluses and deficits but you have no intention of returning all of the accounts to zero balances.

(c) You do not have a legal right of offset, but you do intend to use the cash balances to settle all deficits and then aggregate all balances to a single account.

(d) You have neither the legal right of offset nor the intention to physically aggregate the accounts

(e) Don’t know

Answer 3

The right answer is  (a)  You have the legal right to offset surpluses and deficits, and the intention to realise all surpluses and simultaneously to settle all deficits.

Under IAS 32 it is necessary to satisy both conditions, both the right and the intention to settle net, before the net figure can be used on the face of the balance sheet.  This means that notional pooling arrangements – not that unusual – are excluded form the standard.

The Treasurer June 2005, ”Meet the Skeletons in the IFRS Closet” Stephanie Bruce and Yann Umbricht p 24

Question 4

A recent survey covering the FTSE 250 companies has revealed that treasury departments are rarely involved in the buying process for energy and are therefore at the mercy of increasingly volatile energy prices.

What is the survey’s estimate of the loss to the FTSE 250 during 2004 as a result of energy price volatility?

(a) £5,000M

(b) £1,000M

(c) £500M

(d) £100M

(e) don’t know

Answer 4

The right answer is (b) £1,000M

The survey, on behalf of Utilyx and Barclays Capital found that energy purchasing was viewed as a physical rather than a financial process and that price risk is largely overlooked.  Few FTSE 250 companies had a buying strategy or active management of the buying process to reduce price risk.

The Treasurer July/August 2005 “Treasurers Marginalised In Energy Buying Decisions” p 4

Utilyx website: http://www.utilyx.com/Content/content.asp?sGUID={c94b875b-139d-4e97-a1f7-0ff9640e1128}&TYPE=1&ITEMID=4056&MODE=VIEW
Question 5

There has been much debate about the appropriate discount rate to be used for valuing future pension liabilities.  The 2004 Pensions Act, to be implemented in its entirety during 2005, specifies a particular rate which must be used when calculating a Debt on Employer at the winding up of a pension scheme.

Which of the following is the rate prescribed by the Act?

(a) AA corporate bond rates

(b) swap curve rates

(c) government securities rates

(d) annuity rates

(e) don’t know

Answer 5

The right answer is (d) annuity rates

This, of course, gives the highest present value to future liabilities!  The most frequently used rate until relatively recently – the actuarial rate of blended asset returns – is now wholly discredited.  All of the alternatives quoted above have been discussed as appropriate rates but the Pensions Act has specified only one.

The Treasurer June 2005 (and many others!) “The Perfect Storm” John Hawkins p35

The DWP website: http://www.dwp.gov.uk/lifeevent/penret/penreform/2_bill.asp
Question 6

Creditworthiness of borrowers can be assessed through the either the bond market or the credit default swap (CDS) market.  Providing that the analysis is done correctly, then it can be seen that the two markets may price the credit risk differently.  You are a market participant and, having done your analysis correctly, you realise that a major UK PLC has its creditworthiness priced differently in the two markets and you wish to use this information for arbitrage.

In this situation which of the following is closest to the truth?

(a) if the CDS price of credit risk is less than that for the bond market then you have a theoretical and practical opportunity for arbitrage

(b) if the CDS price of credit risk is higher than that for the bond market then you have a theoretical and practical opportunity for arbitrage

(c) if the CDS price of credit risk is less than that for the bond market then you have a theoretical but not a practical opportunity for arbitrage

(d) it is not possible for the CDS price of credit risk to be higher than that for the bond market

(e) don’t know

Answer 6

The right answer is (a)   if the CDS price of credit risk is less than that for the bond market then you have a theoretical and practical opportunity for arbitrage

This situation is described as negative basis in the CDS market.  In this situation a near-riskless return can be achieved by buying both the bond and the credit protection for the same maturity in equal notional amounts.  This is a ‘negative basis package’.  There is therefore a theoretical and practical opportunity for arbitrage, so answer (c) must be wrong.

When the situation is reversed, as in (b) there is a theoretical opportunity but not a practical opportunity for arbitrage because this would involve short-selling corporate bonds and the inefficiencies of the repo market in corporate bonds make this impractical.

Answer (d) is wrong since it is certainly possible for the CDS spread to be higher than that for the bond.  At times of shortage of investment opportunities or, possibly, at times of high investors’ cash balances this situation does arise.

The Treasurer May 2005,  “The Relationship Between CDS And Bond Spreads” Daniel Berman p50
